
THIS DOCUMENT AND THE INFORMATION CO NTAINED THEREIN IS 

PROPRIETARY TO CARRIER CORPORATION A ND SHALL NOT BE USED

OR DISCLOSED TO OTHERS, IN WHOLE OR IN PART, WITHOUT THE
WRITTEN AUTHORIZATION OF CARRIER COR PORATION.

 SUPERSEDES                                                                                        PART CLASSIFICATION:US

Carrier Corporation

Syracuse, New York 13221
P.O. Box 4805

Carrier Transicold Division

ACCEPTANCE OF CONTRACT
DOES NOT CONSTITUTE PART PERFORMANCE  OR

SUBMISSION OF THESE DRAWINGS OR DOCU MENTS

SYM REVISION RECORD DATE BY ENGR. M.E. NPCA NO.

REVDRAWING NO.TITLE

D
R
A
W
I
N
G
 
C
L
A
S
S
I
F
I
C
A
T
I
O
N
:
U
S
 
 

THIRD ANGLE
PROJECTION

  

80

CTD PART NO.: 98-02588-00

SEE SEPARATE PARTS LIST

C

D

D

D

45 47 67

85

40 45 47 67

D
SHEET 1 OF 2

IMPERIAL INCH FORMAT:
UNLESS OTHERWISE SPECIFIED

DIMENSIONS ARE IN INCHES WITH
METRIC CONVERSIONS IN [MILLIMETERS]

98-02588INSTALL INSTRUCT, LIFT GATE- INITIAL RELEASE, VOIDS & SUPERSEDES 98-02581 13SEP2012 RS 72N0505P12

A SEE SHEET#2 04MAR2013 FM 72N0037P13

B REVISED CABLE ROUTING/CLAMPING ARRANGEMENT AND NOTES 1.0,4.0,6.0. 09-MAR-2015 TSV 72N0051P14

C ADDED SHEET INDEX. SEE SHEET 2. 24 SEP 2015 LT-SS JD 72N0338P15

D
UPDATED SHT INDEX. REMOVED IT 90 AND NOTE, (2) PLACES. REVISED
IT 85, CANCELS DEV VR1030683. SEE SHT 2.

6/15/16 PJS 72N0020P16 SHEET
INDEX

REV D D

SHEET 1 2

INSTALLATION INSTRUCTIONS:
 
1.0 ROUTE CABLE UP FROM BOTTOM OF UNIT TO THE LIFTGATE  CHARGER
    PER DWG, ATTACHING CABLE TO FRAME USING CUSHION CLAMP ITEM 40, WIRE
    TIE, ITEM 85 AND WIRE TIE BASE, ITEM 80 AT LOCATIONS SHOWN.
    DO NOT TIGHTEN WIRE TIE AT THIS TIME.
 
2.0 FROM ONE END OF SUPPLIED CABLE (IT. 12), STRIP BACK 5.00 
    INCHES OF CABLE JACKET.
 
3.0 STRIP BACK .375 INCHES OF WHITE AND BLACK CONDUCTOR INSULATION.
 
4.0 SLIDE ON BOOT AND THEN  A 1" PIECE OF HEAT SHRINK THEN INSTALL 
    6mm RING TERMINAL (IT. 20) ON WHITE CONDUCTOR.
    APPLY HEAT TO SEAL. 
    SLIDE ON A 1" PIECE OF HEAT SHRINK THEN INSTALL 
    8mm RING TERMINAL (IT. 15) ON BLACK CONDUCTOR.
    APPLY HEAT TO SEAL.
 
5.0 INSTALL WHITE CONDUCTOR ONTO 'OUT +' TERMINAL.
    INSTALL BLACK CONDUCTOR ONTO 'OUT -' TERMINAL.
 
6.0 TAKE ANY SLACK OUT OF CABLE AND TIGHTEN CLAMPS AND WIRE TIE TO
    SECURE THE CABLE IN THE UNIT. ROUTE CABLE TO LIFTGATE ASSEMBLY.
    FASTEN TO TRAILER USING CUSTOMER SUPPLIED HARDWARE.
 
7.0 WIRE TO LIFTGATE ACCORDING TO SUPPLIERS INSTALLATION
    INSTRUCTIONS.

 
 
10 22-04183-03 3.0000 LN IN P HEAT SHRINK 0.375 ID (BLK)
  
12 22-04227-01 65.0000 LN FT P CABLE SOOW 6 AWG, 2 COND  
 
15 22-50122-57 1.0000 PCS P TERMINAL,RING M8, AWG 6 GA  
 
20 22-50122-59 1.0000 PCS P TERMINAL,RING M6, AWG 6 GA  
 
30 34-01184-06 1.0000 PCS P NUT,LOCK M6 NYLOCK SST 
 
35 34-01184-08 1.0000 PCS P NUT,LOCK M8 NYLOCK SST 
 
40 44-00347-14 1.0000 PCS P CLAMP,TUBE 7/8 OD 2 PCS POLYPROPYL 
 
45 34-00944-06 1.0000 PCS P WASHER,FLAT M6 STL 
 
50 22-04206-00 4.0000 PCS P WIRE TIE PUSH IN   
 
55 98-SKC-02588 1.0000 PCS M INSTL INSTR FIELD KIT LG CHGR PAPER 
 
60 58-60423-00 1.0000 PCS P CAP TERNINAL   
 
65 34-00945-06 1.0000 PCS P WASHER,LOCK M6 SPRING STL 
 
70 34-00967-45 1.0000 PCS P SCREW,CAP HXHD M6 X 45MM(1.771)
 
75 34-06331-25 1.0000 PCS P SCREW,CAPT WASH M6 X 25MM 
 
80 58-01423-00 1.0000 PCS P SADDLE TIE-WRAP BASE 
 
85 58-04523-00 1.0000 PCS P STA-STRAP 0-2.50 DIA CABLE 
 
90 34-06051-105 1.0000 PCS P RIVNUT M6 STL 
 
 
 

LOWER LEFT FRONT VIEW

98-02581

CLAMP LOCATION
DETAIL VIEW

TORQUE 5.0 �#�0.5 FT-LBS

EAR99

E
A
R
9
9



THIS DOCUMENT AND THE INFORMATION CO NTAINED THEREIN IS 

PROPRIETARY TO CARRIER CORPORATION A ND SHALL NOT BE USED

OR DISCLOSED TO OTHERS, IN WHOLE OR IN PART, WITHOUT THE
WRITTEN AUTHORIZATION OF CARRIER COR PORATION.

 SUPERSEDES                                                                                        PART CLASSIFICATION:US

Carrier Corporation

Syracuse, New York 13221
P.O. Box 4805

Carrier Transicold Division

ACCEPTANCE OF CONTRACT
DOES NOT CONSTITUTE PART PERFORMANCE  OR

SUBMISSION OF THESE DRAWINGS OR DOCU MENTS

SYM REVISION RECORD DATE BY ENGR. M.E. NPCA NO.

REVDRAWING NO.TITLE

D
R
A
W
I
N
G
 
C
L
A
S
S
I
F
I
C
A
T
I
O
N
:
U
S
 
 

THIRD ANGLE
PROJECTION

  

( 6.00)
[152.4]
 

( )1.31
33.2[ ]

15 35 10

20 30 60 10

40 45 47 67

12

40 45 47 67

40 45 47 67

C

C

D

D

D
SHEET 2 OF 2

IMPERIAL INCH FORMAT:
UNLESS OTHERWISE SPECIFIED

DIMENSIONS ARE IN INCHES WITH
METRIC CONVERSIONS IN [MILLIMETERS]

98-02588INSTALL INSTRUCT, LIFT GATE- INITIAL RELEASE, VOIDS & SUPERSEDES 98-02581 13SEP2012 RS 72N0505P12

A ADDED IT BALLOON #12, IT #60 WAS 360, IT #20 WAS 15. 04MAR2013 FM 72N0037P13

B REVISED CABLE ROUTING/CLAMPING ARRANGEMENT. 09-MAR-2015 TSV 72N0051P14

C PIC'T REPLACED IT.30 & IT.35. 24 SEP 2015 LT-SS JD 72N0338P15

D REMOVED IT. 90 CALLOUT AND NOTE 6/15/16 PJS 72N0020P18
LOCATE CUSTOMER SUPPLIED CLAMP AS SHOWN
TO PREVENT CABLE FROM RUBBING ON THE UNIT
PALLET MOUNTING ANGLE, ALSO TO LOCATE CABLE 
FOR ENTRY THROUGH BOTTOM PANEL WHEN USED.

FRAME SHOWN
TRANSPARENT
FOR CLARITY

COVER TERMINAL WITH DIELECTRIC
GREASE AND THEN
SLIDE BOOT OVER CONNECTION TO 
PROTECT IT.

TORQUE 31.0�#�5 IN-LBS

TORQUE 70.8�#�5 IN-LBS

1(ONE) LIN. INCH

BLACK CONDUCTOR
1(ONE) LIN. INCH

WHITE
CONDUCTOR

REMOVE EXISTING HARDWARE FOR STD
BATTERY CHARGER AT THIS LOCATION.
REPLACE WITH:

98-02581

WIRE/CLAMP LOCATION
DETAIL VIEW

BOTTOM PANEL
WITH CABLE PASS THRU

DETAIL VIEW

TORQUE 6.0 �#�0.5 FT-LBS

TORQUE 6.0 �#�0.5 FT-LBS

TORQUE 6.0 �#�0.5 FT-LBS

EAR99

E
A
R
9
9

BOTTOM PANEL - REF


	Sheet 1
	Views
	new_view_18
	new_view_20


	Sheet 2
	Views
	new_view_11
	new_view_17
	new_view_21



